SRI LANKA STANDARD 987 : PART 1 : 2010 UDC : 621.315.22

SPECIFICATION FOR **PVC INSULATED ELECTRIC CABLES** (FIRST REVISION) PART 1 : ARMOURED CABLES FOR VOLTAGES OF 600/1 000V AND 1 900/ 3 300V

SRI LANKA STANDARDS INSTITUTION

Sri Lanka Standard SPECIFICATION FOR PVC INSULATED ELECTRIC CABLES (First revision) Part 1: Armoured cables for voltages of 600/1 000 V and 1 900 /3 300V

SLS 987 : Part 1 : 2010

Gr. 19

Copyright Reserved SRI LANKA STANDARDS INSTITUTION 17, Victoria Place Elvitigala Mawatha Colombo - 08 Sri Lanka

CONTENTS

Clause				
1. Scope	3			
2. References	4			
3. Definitions				
4. Voltage designation				
5. General requirements				
5.1 Conductors				
5.2 Insulation				
5.3 Oversheath				
6. Identification of cores				
7. Laying up	8			
8 Bedding				
9 Armour				
10 Cable marking				
11 End sealing	12			
12 Methods of test	12			
12.1 Test conditions	12			
12.2 Routine tests	14			
12.3 Sample tests	15			
12.4 Type tests	15			

APPENDICES

Appendix A	-	Recommendations for the selection and operation of cables	30
Appendix B	_	Recommendations for the installation of cables	32
Appendix C	_	Information to be provided with enquiry or order	34
Appendix D	-	Measurement of thickness	35
Appendix E	-	Armour wire tests	36
Appendix F	-	Resistance of conductor and armour	38
Appendix G	-	Voltage test on completed cables	41
Appendix H	-	Insulation resistance test	42
Appendix J	-	Compatibility test	42
Appendix K	-	Gross cross-sectional area of armour	43
Appendix L	-	Method of measurement of green and yellow proportion on	
		the insulation of circuit protective conductors.	46
Appendix M	-	Notes on type tests	47
Appendix N	-	Guide to use	48

TABLES

Table	1	-	Diameter of armour wire and mass of Zinc coating	10
Table	2	_	Schedule of tests	13
Table	3	_	Minimum insulation resistance values	14
Table	4	_	Compatibility test requirements	16
Table	5	_	Single-core 600/1 000 V cables with circular stranded copper conductor	16
Table	6	_	Single-core 600/1 000 V cables with solid / stranded aluminium conductor	17
Table	7	_	Two-core 600/1 000 V cables with stranded copper conductors	18
Table	8	_	Two-core 600/1 000 V cables with solid / stranded aluminium conductors	19
Table	9	_	Three-core 600/1 000 V cables with stranded copper conductors	20
Table	10	_	Three-core 600/1 000 V cables with solid / stranded aluminium conductors	21
Table	11	_	Four-core 600/1 000 V cables with stranded copper conductors	22
Table	12	_	Four-core 600/1 000 V cables with solid / stranded aluminium conductors	23
Table	13	_	Five-core 600/1 000 V cables with stranded copper conductors	24
Table	14	_	Single-core 1 900/ 3 300 V cables with circular stranded copper conductor	25
Table	15	_	Single-core 1 900/ 3 300 V cables with solid / stranded aluminium conductor	26

Table 16 – Three-core 1 900/ 3 300 V cables with stranded copper conductors	27
Table 17 – Three-core 1 900/ 3 300 V cables with solid / stranded aluminium conductors	28
Table 18 $-$ 600/1 000 V armoured auxiliary cables with stranded copper conductors 2	29
Table A.1 – Selection of cables for a.c. systems	31
	32
Table B.2 – Test voltages after installation 3	34
Table E.1 – Temperature correction multiplication factors Control	37
Table F.1 – Maximum resistance of conductor and armour for single-core cables having aluminium wire armour	38
Table F.2 – Maximum resistance of conductor and armour for two-core, three-core, four-core	39
Table F.3 – Maximum resistance of conductor and armour for 600/1 000 V auxiliary cables with	40
Table F.4 Maximum resistance of conductor and armour for single-core cables having solid	40
Table F.5 – Maximum resistance of conductor and armour for two-core, three-core, and	41
	42
Table K.1 – Gross cross - sectional area of armour wires for single-core 600/1 000 V	
	43
Table K.2 – Gross cross - sectional area of armour wires for two-core, three-core, four-core	44
Table K.3 – Gross cross - sectional area of armour wires for 600/1 000 V auxiliary cables with	
copper conductors having steel wire armour	45
Table K.4 – Gross cross - sectional area of aluminium strip armour for single-core, two-core, three-core, four-core 600/1 000 V cables with soild aluminium conductors	45

FIGURES

Figure L.1 – Measurement of green and yellow proportion on the insulation of circuit protective conductors

46

Sri Lanka Standard SPECIFICATION FOR PVC INSULATED ELECTRIC CABLES (First Revision) Part 1: Armoured cables for voltages of 600/1 000 V and 1 900 /3 300V

FOREWORD

This standard was approved by the Sectoral Committee on Electric Cables and Conductors and was authorized for adoption and publication as a Sri Lanka Standard by the Council of the Sri Lanka Standards Institution on 2010-10-15

SLS 987 : 2010: Specification for PVC insulated electric cables, is the first revision of **SLS 987:1992** and this is published in two parts as follows:

Part 1 : PVC insulated armoured cables for voltages of 600/1 000 V and 1 900/ 3 300 V

Part 2 : PVC insulated non-armoured cables for voltage upto and including of 600 /1 000 V

This is the Part 1 of the standard and it specifies requirements, dimensions and methods of test of PVC insulated armoured cables.

Appendix A,B,C, K, M and N are informative. Appendix D, E, F,G, H, J and L are normative.

For the purpose of deciding whether a particular requirement of the standard is complied with the final value, observed or calculated, expressing the results of a test or an analysis shall be rounded off in accordance with **SLS 102**. The number of figures to be retained in the rounded off value shall be same as that of the specified value in the standard.

In the preparation of this standard the assistance derived from **BS 6346 : 1997**: Electric cables - PVC insulated, armoured cables for voltages of $600/1\ 000$ V, and $1\ 900\ /3\ 300$ V, including Amd. No.1: 2004, published by British Standard Institution is gratefully acknowledged.

1. SCOPE

This Sri Lanka Standard specifies requirements for construction and describes methods of test for armoured cable with PVC insulation of rated voltages 600/1 000 V and 1 900/3 300 V. Cables specified in this standard are intended for use in fixed installations in industrial areas, buildings and similar applications.

The insulation and other components are suitable to permit operation of the cables at a maximum sustained conductor temperature of 70 °C and for a maximum short-circuit conductor temperature of 160 °C for conductor sizes up to and including 300 mm² and 140 °C for conductor sizes greater than 300 mm².